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17.6-32.

(a) Alternative 1:
Results

Data

{exponential parameter
{mean service rate)
{# servers)

{size of population)

Three machines are the maximum that can be assigned to an operator while still
achieving the required production rate. The average number of machines not running is
L =10.32, so 1 —(0.32/3) = 89.0% of the machines are running on the average. The
utilization of servers is (\/sp) = 1.072/(1 - 4) = 0.268.

(b) Alternative 2:

Results

Three operators are needed to achieve the required production rate. The average number
of machines not running is L = 1.125, so 1 — (1.125/12) = 90.6% of the machines are
running on the average. The utilization of servers is (A\/sp) = 4.350/(3 - 4) = 0.363.

Results

............. 6;}}

Two operators are needed to achieve the required production rate. The average number of
machines not running is L = 1.035, so 1 — (1.035/12) = 91.4% of the machines are
running on the average. The utilization of servers is (A/su) = 4.386/(1 - 8) = 0.548.
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